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7159N38UBN 9.07 | 60.44 | 5.76 7.66 1.28 | 0.01 0.20 | 4.21 1.46 0.29 0.28 9.34
(green bead)

andansena

WU (red 5,59 | 70.11 | 3.45 | 10.78 | 0.71 - 0.20 4.41 4.45 - 0.31
bead)




aniamsanay
wuy (blue 13.79 | 50.31 5.93 3.67 2.17 - 0.49 15.60 | 0.42 - - 7.63
bead)
ania
NPWNNITUDA
s 10.26 | 48.24 | 2.79 6.34 1.04 - 0.12 4.78 17.35 - - 9.07
du (red
bead)
:zgiz If’ﬂ T T «
TN '
50000 e~ a2 =
88 5 8 » ,
40000 8z
>
E 30000 l‘u' ll I
£ 20000
10000
%0 500 1000 1500 2000 2500 3000 “.3500 ).4000
Raman shift (cm-1)
ania 1 (green bead)
49997 e < 30000 -
g = Eb E
40000 = _ & . =3
¥ 58 T g 20000 =T &
30000 I Z ( ll !
= = I 5 > .
£ 20000 l T :
E I £ 10000
10000
06 500, —1000 1500 2000 25003000 3500 4000 %6 500 1000 1500 2000 2500 3000 3500 400

Raman shift (cm-1)

anida 3 (blue bead)

5UN 2 uanenunuaansuvesgniadsing o

Raman shift (cm-1)

anin 4 (red bead)



M19°99 2 wanssuiafinsuuiaresiuszneululdldvesiiegagnie

Ussinngnda AunLaNnsIY (cm™)

aniansensguen (green bead) | 137.41, 325.66, 460.03, 504.3, 987.14, 1082.67, 1358

Qﬂﬂmmaﬂammu (blue bead) 490, 780.98, 994.44, 1079.07, 2393.72

Qﬂﬂmmaﬂizuaﬂgu (red bead) | 1373.25, 1563.96, 1875.18






